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QUESTION 1

When is an INTENT EXCLUSIVE (IX) lock required?

A. When a transaction intends to read or change data.

B. When a transaction intends to change but not read data.
C. When a transaction intends to read but not change data.
D. When a transaction intends to change the system catalog.

Correct Answer: A

QUESTION 2

Given the following statements:

CREATE TABLE employvee (empid INTEGER, info XML,

INSERT INTC employvee WALUES (1,
employeeinfo=
<name=Joe smith</name=
<department name="DB2"=
zteam=Development</team:=
<fdepartment=
</Bmployeeinfo=");

If the following <Cluery statement is executed:

HOAUERY
for $info in db2-inxmlcolumn{' EMPLOYEE INFO'Yemployeeinfo
return $info/name

What will be the result?
A. Joe Smith

B. Joe Smith

C. Joe Smith>DB2

D. Joe Smith

Correct Answer: B

QUESTION 3

A table named EMPLOYEE was created as follows: Which action will prevent unauthorized users from accessing SSN
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data?
CREATE TAELE emplovee
(emp_id INTEGER NOT NULL PRIMARY KEY,
f_name “WARCHAR(30),

|_name VARCHAR(4D),
55 CHAR(9) NOT NULL)

A. Assign the SSN column to a restricted role that only authorized users can access.
B. Only grant ACCESSCTRL authority for the SSN column to users who need to access SSN data.
C. Alter the table definition so that SSN data is stored in a separate schema that only authorized users can access.

D. Create a view for the EMPLOYEE table that does not contain the SSN column and require unauthorized users to use
the view.

Correct Answer: D

QUESTION 4

Which object is used to cache table and index data as it is read from disk?
A. Database

B. Buffer pool

C. Table space

D. Package cache

Correct Answer: B

QUESTION 5

Which statement is true about an index that is used to support a UNIQUE constraint?
A. It must not contain more than one column.

B. It cannot be used in a referential constraint.

C. It must be defined with the UNIQUE attribute.

D. It must be defined as UNIQUE WHERE NOT NULL.

Correct Answer: C
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